

Berechne:

$$(+3) + (-3) =$$

$$(+8) - (-4) =$$

$$(+35) + (-7) =$$

$$(+7) - (-9) =$$

$$(-8) + (-4) =$$

$$(-42) - (-7) =$$

$$(+5) + (+3) =$$

$$(-6) - (-8) =$$

$$(+12) + (+3) =$$

$$(-9) - (-9) =$$

$$(+7) + (-7) =$$

$$(+100) - (-5) =$$

$$(+5) + (+8) =$$

$$(-3) - (-4) =$$

$$(-72) + (-8) =$$

$$(+7) - (-10) =$$

$$(+4) + (+4) =$$

$$(+56) - (-8) =$$

$$(-9) + (-2) =$$

$$(+5) - (-4) =$$

$$(-18) + (+6) =$$

$$(+8) - (-3) =$$

$$(-8) + (+3) =$$

$$(+81) - (-9) =$$

$$(-7) + (-7) =$$

$$(+4) - (-5) =$$

$$(-42) + (-7) =$$

$$(+8) - (-2) =$$

$$(-9) + (+4) =$$

$$(+63) - (-9) =$$

$$(+5) + (+3) =$$

$$(+11) - (-9) =$$

$$(-90) + (-9) =$$

$$(+12) - (-3) =$$

$$(-7) + (-8) =$$

$$(+81) + (-7) =$$